e LA

213F

>

a

= 213

&
&

4

P P L P R RV B P N B P RV B

&

&

&

&

avivis

’V‘ €390 o8 THO! Cflos Sguu 7ol olLLIlS St

AL (03) ot pla!

alp! ol (5 )90e

S0 5 Sl pgle Oyl3g
IS Pigel i plojl

(

(MNFF) oS = Conn o

)

WS WY+ 2 oKl e l

SWlgw 8 ke g Slaws | Sl Slge ylgie

We : Jlsme .»1.».;'

et U | a5led 31 | 1o Slass i €SP PPY [T
Y. \ Y. ((waadSl) pavais § ogee L) \
a- n ¥e woges s | Y
Y o) £ Cand § Baxe o p i 3 (3 0l p \d
A v Y. Wb pimnsns Jaboi 5Ly 9 5el | ¥
we m s WO ST PRt RIS o
18- AAQ| Y s § Janze o',& U‘fb—jJ‘ v

i i 3 (GIS) oLl i SleMbl glags s
We 181 o[22 S0 ORI et
(RS) ;32
ot Jloee Wl il 5 aalaiw! D10 e b ped Q"’)i o)

Bygn 1 S el onbiie b g ail e e e sl o 30e Ll Byl 3 A olondl paled 1 sope 3T (551 2 3 o (g S0 S) iy 5 8 0 T A g 5 il 3

R ] R R | R e o] VY AY [ R o R

&

=

2

&




9Lt

iranmoshavere.com

Y anieo 213F (NFF 45) Cannn j baaza

el (19031 dds 10 Lol jgea s & jods (b3 Jeua Ol jade 10 Lasl § Glakie 730 pos 2ol )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(Ml) M“, PP ‘_-2_‘2

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) --——===-==——— the matter. The number of people that Earth can support depends on
(15) -========-=--—, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The future for petroleum use at the moment looks rather uncertain. despite enjoying
the major benefit of a very advanced infrastructure already in place. The downsides
from the environmental point of view are patently obvious: harm to public health
through carbon dioxide emissions in exhaust fumes. which are linked to respiratory
problems, and to precious ecosystems from oil spills and seepage. But the most
significant weakness is that oil is a finite resource.

The picture for natural gas is similarly mixed. While its main strength lies in its
being a relatively clean fuel involving little processing and being easily transportable
via pipelines. natural gas requires compression or low temperatures if it is to be used
for cars or other vehicles. Thus, it has not previously been a serious contender to
provide private transportation. There are now signs, however, that this obstacle may
have been overcome.

Yet there is another problem with natural gas. It may produce less carbon dioxide
than other fossil fuels. but the major stumbling block to its use is that the methane
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17-

18-

19-

20-

released lives for a long time in the atmosphere. In addition. as it is a non-renewable
energy source like petroleum. in coming years natural gas will not be in use. But in the
short term at least, the situation looks rosy.

What does the passage primarily discuss?

1) The differences between two types of fuels

2) Environmental problems caused by fossil fuels

3) The importance of renewable sources of energy

4) Pros and cons of petroleum and natural gas

The word “which” in paragraph 1 refers to -—------e-m-- "

1) downsides 2) exhaust fumes

3) respiratory problems 4) carbon dioxide emissions

It can be inferred from the passage that the author most likely believes which of the
following about natural gas?

1) It can easily be used for cars or other vehicles.

2) It does not release any poisonous gases at all.

3) It does not seem to have a hopeful future in the long-term.

4) It requires advanced technology in order to be transported.

The word “obstacle” in paragraph 2 could best be replaced by —----eeeeeu- ‘

1) concern 2) difficulty 3) decision 4) penalty

Which of the following best describes the function of the underlined sentence in
paragraph 3?

1) It compares and contrasts methane with natural gas.

2) It emphasizes the seriousness of the problem presented in the preceding sentence.
3) It claborates on the idea discussed in the preceding sentence.

4) It explains why methane is trapped in the atmosphere.

PASSAGE 2:

Wildlife populations and migration patterns have always fluctuated in the Arctic.
Flexibility in resource use has traditionally enabled Inuit to manage such variability
and has underpinned Inuit adaptability to changes in climate documented in the last
decade. Regulations, however. often constrain flexibility in harvesting by limiting how
many species can be caught and specifying the timing at which hunting can take place.
Moreover, Inuit communities and politicians are concerned that climate change will
lead to increased pressure from the international community to strengthen existing
quota systems and develop quotas for currently unregulated species. As a result.
controversies over how to manage climate change impacts on wildlife have emerged in
recent years and have destabilized management and conservation of wildlife across
northern Canada. The recent decision to list polar bears as an endangered species in
the United States and the associated ban on US sport hunters importing polar bear
skins acquired on sport hunts with Inuit guides in Canada may be an indication of
future conflict. Developing and altering quotas in response to outside pressures. which
do not take into account local hunting needs and the ecology of harvesting, will almost
certainly increase Inuit vulnerability to climate change. limiting the flexibility of
hunting that has traditionally facilitated adaptive capacity. reducing options at the
disposal of communities to adapt to future change. limiting the accountability and
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transparency of wildlife management institutions, increasing confrontation, and having
implications for economic well-being given the importance of traditional foods in
Inuit diets.

What does the passage primarily discuss?

1) Threats posed by climate change in the Arctic

2) The way of life of Inuit people in northern Canada

3) The effects of managing an environmental problem on the Inuit

4) An age-old controversy between the Inuit and local conservationists
How do Inuit people in the Arctic deal with changes in wildlife populations?
1) By listening to outside experts

2) By using a variety of resources

3) By moving from one place to another

4) By relying on their traditional knowledge

According to the passage, Inuit communities are worried that -—--------—---,

1) climate change will result in stricter regulations

2) wildlife conservation programs are likely to fail

3) they do not have a healthy choice of food because of climate change

4) hunting will be completely banned by the international community
Why dose the author mention “polar bears” in the passage?

1) To describe one policy that helped save them

2) To provide an example of a rare type of animal imported to the US

3) To explain why they are on the list of American sport hunters

4) To suggest that imposing limitations on their trading can cause disagreement

The word “confrontation™ in the passage is closest in meaning to ------—--—e-- .
1) dispute 2) problem 3) obsession 4) discouragement
PASSAGE 3:

Ants are one of this planet's most successful life forms. Holldobler, a professor at
Arizona State University (ASU), studies them to learn how they survive in what often
are harsh and almost always demanding environments. He has studied how they
overcome insects and other prey much larger than themselves. He has learned how
they build their nests and how they thrive in them. But most importantly, the ASU
scientist studies how neighboring colonies of ants compete with one another.

"To scientists, ant colonies often appear to be much like a secret society. We want
to decode their social organization and communications systems." he says. But
Holldobler has found much more during his many years studying ants. His findings
hold clues to the long-term survival of ants. The insects have inhabited Earth for more
than 100 million years.

However, the ASU scientist says that buried deep within an ant colony's social
structures are lessons for the long-term survival of humans as well. "Ants are the most
successful animals on Earth," Hélldobler explains. "The very nature of our planet
without ants would be very different than a world without humans."

"Without humans, culture, art, and music would vanish. But nature would recover."
he says. "Without ants. however, the Earth would lose one of its most integrated and
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useful life forms. The planet would be significantly altered. Many natural habitats
would go extinct, including many of the plant and animal species living today."

What is the main purpose of the passage?

1) To illustrate the diversity of social insects

2) To share the views of an expert on a social insect

3) To present the most recent findings of a scientist about ants

4) To discuss what the planet would be like without ants

According to the passage, Holldobler's most significant research in relation to ants is on

1) rivalry among them

2) the location of their nests

3) how other insects prey on them

4) their staying alive in difficult situations

It can be inferred from the passage that Hilldobler most probably holds the idea that
studying ant colonies -----—-=--,

1) gives us a clear picture of how they find food and survive

2) can have lessons for cooperation among humans

3) requires better understanding of biological social systems

4) can be beneficial for humans

It can be inferred from the passage that Hélldobler believes that the presence of humans

1) contributes to art and culture

2) hardly poses a threat to the environment

3) depends on the existence of specific animal species

4) is directly linked with the presence of ants on the earth

According to the passage, the elimination of ants would result in all of the following
EXCEPT ---eeeeeee,

1) the disappearance of a large proportion of animals

2) great loss of plants

3) the growth of unwanted plants

4) habitat destruction
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